
21.10.2023

SKUPINA ,,A,,
Muži

2 - 5 Várka 2 : 0 Jajčík

3 - 4 Erstich 1 : 1 Bazsa

5 - 3 Jajčík 2 : 0 Erstich

1 - 2 Morpak 1 : 1 Várka

3 - 1 Erstich 0 : 2 Morpak

4 - 5 Bazsa 0 : 2 Jajčík

1 - 4 Morpak 1 : 1 Bazsa

2 - 3 Várka 1 : 1 Erstich

4 - 2 Bazsa 2 : 0 Várka

 5 - 1 Jajčík 2 : 0 Morpak

SKUPINA ,,B,,
Muži

2 - 5 Pražák 1 : 1 Rác

3 - 4 Knöller 2 : 0 Szücs R.

5 - 3 Rác 1 : 1 Knöller

1 - 2 Cedrych 0 : 2 Pražák

3 - 1 Knöller 1 : 1 Cedrych

4 - 5 Szücs R. 1 : 1 Rác

1 - 4 Cedrych 2 : 0 Szücs R.

2 - 3 Pražák 2 : 0 Knöller

4 - 2 Szücs R. 0 : 2 Pražák

 5 - 1 Rác 0 : 2 Cedrych

SKUPINA ,,C,,
Muži

2 - 5 Studený 0 : 2 Merkotan

3 - 4 Schöneich 1 : 1 Turányi

5 - 3 Merkotan 1 : 1 Schöneich

1 - 2 Šlajs 0 : 2 Studený

3 - 1 Schöneich 1 : 1 Šlajs

4 - 5 Turányi 2 : 0 Merkotan

1 - 4 Šlajs 0 : 2 Turányi

2 - 3 Studený 0 : 2 Schöneich

4 - 2 Turányi 2 : 0 Studený

 5 - 1 Merkotan 2 : 0 Šlajs

SKUPINA ,,D,,
Muži

2 - 5 Sochor 2 : 0 Egermaier

3 - 4 Schmitt 0 : 2 Hunyák

5 - 3 Egermaier 0 : 2 Schmitt

1 - 2 Šesták 0 : 2 Sochor

3 - 1 Schmitt 2 : 0 Šesták

4 - 5 Hunyák 1 : 1 Egermaier

1 - 4 Šesták 1 : 1 Hunyák

2 - 3 Sochor 2 : 0 Schmitt

4 - 2 Hunyák 0 : 2 Sochor

 5 - 1 Egermaier 1 : 1 Šesták

SKN Plzeň 19.Kolo Jednotlivce 301 D.O.

Los 1 2 3 4 5 Bod Místo

3. 1

2 Várka 1 I 1 0 2 4 4. 2

1 Morpak Š 1 2 1 0 4

5. 3

4 Bazsa 1 2 1 K 0 4 2. 4

3 Erstich 0 1 P 1 0 2

1 Cedrych Š 0 1 2 2 5 2. 1

1. 5

Los 1 2 3 4 5 Bod Místo

5 Jajčík 2 0 2 2 Y 6

3. 3

2 Pražák 2 I 2 2 1

3 Knöller 1 0 P 2 1 4

7 1. 2

Los 1 2 3 4 5 Bod Místo

5. 4

5 Rác 0 1 1 1 Y 3 4. 5

4 Szücs R. 0 0 0 K 1 1

5. 1

2 Studený 2 I 0 0 0 2 4. 2

1 Šlajs Š 0 1 0 0 1

3. 3

4 Turányi 2 2 1 K 2 7 1. 4

3 Schöneich 1 2 P 1 1 5

2. 5

Los 1 2 3 4 5 Bod Místo

5 Merkotan 2 2 1 0 Y 5

4. 1

2 Sochor 2 I 2 2 2 8 1. 2

1 Šesták Š 0 0 1 1 2

3. 3

4 Hunyák 1 0 2 K 1 4 2. 4

3 Schmitt 2 0 P 0 2 4

5. 55 Egermaier 1 0 0 1 Y 2



SKUPINA ,,E,,

Muži

2 - 5 Kocar 2 : 0 Newlands

3 - 4 Schwenk 1 : 1 Fülöp

5 - 3 Newlands 2 : 0 Schwenk

1 - 2 Kalina 2 : 0 Kocar

3 - 1 Schwenk 0 : 2 Kalina

4 - 5 Fülöp 1 : 1 Newlands

1 - 4 Kalina 2 : 0 Fülöp

2 - 3 Kocar 2 : 0 Schwenk

4 - 2 Fülöp 2 : 0 Kocar

 5 - 1 Newlands 0 : 2 Kalina

SKUPINA ,,F,,
Muži

2 - 5 Holub 2 : 0 Růžička

3 - 4 0 : Mészáros

5 - 3 Růžička : 0

1 - 2 Škuta 0 : 2 Holub

3 - 1 0 : Škuta

4 - 5 Mészáros 1 : 1 Růžička

1 - 4 Škuta 1 : 1 Mészáros

2 - 3 Holub : 0

4 - 2 Mészáros 0 : 2 Holub

 5 - 1 Růžička 1 : 1 Škuta

SKUPINA ,,G,,
Muži

2 - 5 Šturm 0 : 2 Ortmann

3 - 4 Aiemut 2 : 0 Paskó

5 - 3 Ortmann 0 : 2 Aiemut

1 - 2 Mimra 1 : 1 Šturm

3 - 1 Aiemut 2 : 0 Mimra

4 - 5 Paskó 0 : 2 Ortmann

1 - 4 Mimra 0 : 2 Paskó

2 - 3 Šturm 0 : 2 Aiemut

4 - 2 Paskó 0 : 2 Šturm

 5 - 1 Ortmann 1 : 1 Mimra

SKUPINA ,,H,,
Muži

2 - 5 Kulich 1 : 1 McGeough

3 - 4 Sommer 2 : 0 Spilko

5 - 3 McGeough 2 : 0 Sommer

1 - 2 Jankovič 1 : 1 Kulich

3 - 1 Sommer 2 : 0 Jankovič

4 - 5 Spilko 0 : 2 McGeough

1 - 4 Jankovič 0 : 2 Spilko

2 - 3 Kulich 2 : 0 Sommer

4 - 2 Spilko 0 : 2 Kulich

 5 - 1 McGeough 2 : 0 Jankovič

Los 1 2 3 4 5 Bod Místo

1. 1

2 Kocar 0 I 2 0 2 4 2. 2

1 Kalina Š 2 2 2 2 8

5. 3

4 Fülöp 0 2 1 K 1 4 4. 4

3 Schwenk 0 0 P 1 0 1

3. 5

Los 1 2 3 4 5 Bod Místo

5 Newlands 0 0 2 1 Y 3

3. 1

2 Holub 2 I 0 2 2 6 1. 2

1 Škuta Š 0 0 1 1 2

3

4 Mészáros 1 0 0 K 1 2 4. 4

3 0 0 P 0 0 0

2. 5

Los 1 2 3 4 5 Bod Místo

5 Růžička 1 0 0 1 Y 2

5. 1

2 Šturm 1 I 0 2 0 3 3. 2

1 Mimra Š 1 0 0 1 2

1. 3

4 Paskó 2 0 0 K 0 2 4. 4

3 Aiemut 2 2 P 2 2 8

2. 5

Los 1 2 3 4 5 Bod Místo

5 Ortmann 1 2 0 2 Y 5

5. 1

2 Kulich 1 I 2 2 1 6 2. 2

1 Jankovič Š 1 0 0 0 1

3. 3

4 Spilko 2 0 0 K 0 2 4. 4

3 Sommer 2 0 P 2 0 4

1. 55 McGeough 2 1 2 2 Y 7



SKUPINA ,,I,,

Muži

2 - 5 Korábečný 1 : 1 Murray

3 - 4 Rohrbach 2 : 0 Halász

5 - 3 Murray 1 : 1 Rohrbach

1 - 2 Tressl 0 : 2 Korábečný

3 - 1 Rohrbach 2 : 0 Tressl

4 - 5 Halász 1 : 1 Murray

1 - 4 Tressl 0 : 2 Halász

2 - 3 Korábečný 0 : 2 Rohrbach

4 - 2 Halász 2 : 0 Korábečný

 5 - 1 Murray 1 : 1 Tressl

SKUPINA ,,J,,
Muži

2 - 5 Mareš 2 : 0 Musil

3 - 4 Kiril 0 : 2 Bojsa

5 - 3 Musil 1 : 1 Kiril

1 - 2 Štýs 0 : 2 Mareš

3 - 1 Kiril 1 : 1 Štýs

4 - 5 Bojsa 2 : 0 Musil

1 - 4 Štýs 0 : 2 Bojsa

2 - 3 Mareš 0 : 2 Kiril

4 - 2 Bojsa 1 : 1 Mareš

 5 - 1 Musil 0 : 2 Štýs

SKUPINA ,,K,,
Muži

2 - 5 Gorol 2 : 0 Brož

3 - 4 Wrobel 2 : 0 Szücs J.

5 - 3 Brož 1 : 1 Wrobel

1 - 2 Svoboda 1 : 1 Gorol

3 - 1 Wrobel 2 : 0 Svoboda

4 - 5 Szücs J. 1 : 1 Brož

1 - 4 Svoboda 0 : 2 Szücs J.

2 - 3 Gorol 1 : 1 Wrobel

4 - 2 Szücs J. 2 : 0 Gorol

 5 - 1 Brož 2 : 0 Svoboda

SKUPINA ,,L,,
Muži

2 - 5 Uhlíř 1 : 1 Truhlář

3 - 4 Rybinski 2 : 0 Pšenák

5 - 3 Truhlář 2 : 0 Rybinski

1 - 2 Vlasák 0 : 2 Uhlíř

3 - 1 Rybinski 0 : 2 Vlasák

4 - 5 Pšenák 0 : 2 Truhlář

1 - 4 Vlasák 1 : 1 Pšenák

2 - 3 Uhlíř 1 : 1 Rybinski

4 - 2 Pšenák 0 : 2 Uhlíř

 5 - 1 Truhlář 1 : 1 Vlasák

Los 1 2 3 4 5 Bod Místo

5. 1

2 Korábečný 2 I 0 0 1 3 4. 2

1 Tressl Š 0 0 0 1 1

1. 3

4 Halász 2 2 0 K 1 5 2. 4

3 Rohrbach 2 2 P 2 1 7

3. 5

Los 1 2 3 4 5 Bod Místo

5 Murray 1 1 1 1 Y 4

4. 1

2 Mareš 2 I 0 1 2 5 2. 2

1 Štýs Š 0 1 0 2 3

3. 3

4 Bojsa 2 1 2 K 2 7 1. 4

3 Kiril 1 2 P 0 1 4

2

1

5. 55 Musil 0 0 1 0 Y 1

5.

2 Gorol 1 I 1 0 2 4 3.

Los 1 2 3 4 5 Bod

3 Wrobel 2 1 P 2 1 6 1. 3

4 Szücs J. 2 2 0 K 1 5 2.

Místo

1 Svoboda Š 1 0 0 0 1

4. 5

Los 1 2 3 4 5 Bod Místo

5 Brož 2 0 1 1 Y 4

4

3. 1

2 Uhlíř 2 I 1 2 1 6 1. 2

1 Vlasák Š 0 2 1 1 4

4. 3

4 Pšenák 1 0 0 K 0 1 5. 4

3 Rybinski 0 1 P 2 0 3

2. 55 Truhlář 1 1 2 2 Y 6



SKUPINA ,,M,,

Muži

2 - 5 Brejšek 1 : 1 Holík

3 - 4 0 : Rohaľ

5 - 3 Holík : 0

1 - 2 Bešík 0 : 2 Brejšek

3 - 1 0 : Bešík

4 - 5 Rohaľ 2 : 0 Holík

1 - 4 Bešík 0 : 2 Rohaľ

2 - 3 Brejšek : 0

4 - 2 Rohaľ 2 : 0 Brejšek

 5 - 1 Holík 1 : 1 Bešík

SKUPINA ,,N,,
Muži

2 - 5 Bažo 2 : 0 Kotáb

3 - 4 Buzek 1 : 1 Kmet

5 - 3 Kotáb 1 : 1 Buzek

1 - 2 Černý 0 : 2 Bažo

3 - 1 Buzek 0 : 2 Černý

4 - 5 Kmet 2 : 0 Kotáb

1 - 4 Černý 2 : 0 Kmet

2 - 3 Bažo 2 : 0 Buzek

4 - 2 Kmet 0 : 2 Bažo

 5 - 1 Kotáb 1 : 1 Černý

SKUPINA ,,O,,
Muži

2 - 5 Červeňák 2 : 0 Robertson

3 - 4 Jungwirth 2 : 0 Pozsár

5 - 3 Robertson 0 : 2 Jungwirth

1 - 2 Švarc 1 : 1 Červeňák

3 - 1 Jungwirth 2 : 0 Švarc

4 - 5 Pozsár 1 : 1 Robertson

1 - 4 Švarc 0 : 2 Pozsár

2 - 3 Červeňák 0 : 2 Jungwirth

4 - 2 Pozsár 1 : 1 Červeňák

 5 - 1 Robertson 1 : 1 Švarc

SKUPINA ,,P,,
Muži

2 - 5 Hájek : 0

3 - 4 Stoll 1 : 1 Menšík

5 - 3 0 : Stoll

1 - 2 Mižigar 0 : 2 Hájek

3 - 1 Stoll 0 : 2 Mižigar

4 - 5 Menšík : 0

1 - 4 Mižigar 2 : 0 Menšík

2 - 3 Hájek 2 : 0 Stoll

4 - 2 Menšík 1 : 1 Hájek

 5 - 1 0 : Mižigar

Los 1 2 3 4 5 Bod Místo

4. 1

2 Brejšek 2 I 0 0 1 3 2. 2

1 Bešík Š 0 0 0 1 1

3

4 Rohaľ 2 2 0 K 2 6 1. 4

3 0 0 P 0 0 0

3. 5

Los 1 2 3 4 5 Bod Místo

5 Holík 1 1 0 0 Y 2

2. 1

2 Bažo 2 I 2 2 2 8 1. 2

1 Černý Š 0 2 2 1 5

5. 3

4 Kmet 0 0 1 K 2 3 3. 4

3 Buzek 0 0 P 1 1 2

Los 1 2 3 4 5 Bod Místo

4. 55 Kotáb 1 0 1 0 Y 2

4. 1

2 Červeňák 1 I 0 1 2 4 2. 2

1 Švarc Š 1 0 0 1 2

1. 3

4 Pozsár 2 1 0 K 1 4 3. 4

3 Jungwirth 2 2 P 2 2 8

5. 5

Los 1 2 3 4 5 Bod Místo

5 Robertson 1 0 0 1 Y 2

3 Stoll 0 0 P 1 0 1

2. 1

2 Hájek 2 I 2 1 0 5 1. 2

1 Mižigar Š 0 2 2 0 4

55 0 0 0 0 Y 0

4. 3

4 Menšík 0 1 1 K 0 2 3. 4



A1 Jajčík

P4 X Jajčík 0

H2 Kulich 2 Kulich 2

I3 Murray 1 Kulich 0

E1 Kalina Kalina 2

L4 X Kalina 2

D2 Hunyák 2 Hunyák 1

M3 Holík 0 Kalina 1

C1 Turányi Turányi 2

N4 X Turányi 2

F2 Růžička 2 Růžička 1

K3 Gorol 1 Turányi 2

G1 Aiemuut Aiemuut 1

J4 X Aiemuut 2

B2 Cedrych 2 Cedrych 0

O3 Pozsár 1 Turányi 1

B3 Knöller 2 Knöller 2

O2 Červeňák 0 Knöller 2

G4 X Bojsa 0

J1 Bojsa Knöller 2

F3 Škuta 0 Bažo 0

K2 Szücs J. 2 Szücs J. 0

C4 X Bažo 2

N1 Bažo Knöller 2

D3 Schmitt 2 Hájek 0

M2 Brejšek 0 Schmitt 0

E4 X Uhlíř 2

L1 Uhlíř Uhlíř 1

H3 Sommer 0 Hájek 2

I2 Halász 2 Halász 0

A4 X Hájek 2

P1 Hájek Knöller 2

I1 Rohrbach Holub 0

H4 X Rohrbach 2

P2 Mižigar 2 Mižigar 0

A3 Morpak 1 Rohrbach 1

M1 Rohaľ Fülöp 2

D4 X Rohaľ 1

L2 Truhlář 0 Fülöp 2

E3 Fülöp 2 Fülöp 2

K1 Wrobel Schöneich 1

F4 X Wrobel 1

N2 Černý 0 Schöneich 2

C3 Schöneich 2 Schöneich 2

O1 Jungwirth Jungwirth 0

B4 X Jungwirth 2

J2 Mareš 2 Mareš 0

G3 Šturm 0 Fülöp 0

J3 Kiril 1 Holub 2

G2 Ortmann 2 Ortmann 0

O4 X Pražák 2 o 3.misto

B1 Pražák Pražák 1 Turányi 1

N3 Kmet 1 Holub 2 Fülöp 2

C2 Merkotan 2 Merkotan 0

K4 X Holub 2

F1 Holub Holub 2

L3 Vlasák 0 McGeough 1

E2 Kocar 2 Kocar 1 O 5.-8.misto

M4 X Sochor 2 Kalina 2 o 5.misto

D1 Sochor Sochor 0 Hájek 0 Kalina 2

P3 Menšík 0 McGeough 2 McGeough 0

A2 Bazsa 2 Bazsa 0 Schöneich 1 o 7.misto

I4 X McGeough 2 McGeough 2 Hájek 1

H1 McGeough Schöneich 2

FináleSemifináleČtvrtifináleOsmifinále2. Kolo1. Kolo


